WEST BENGAL SHINE TEACHER’S OF EDUCATION TALENT SEARCH EXAM, 2023
CLASS - IV
*Every Correct answer will add 2 Marks Time : 1 hr. 30 min
*Every Wrong answer will deduct 1 Mark Full Marks : 160
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10.

About how many eggs does a queen bee lay

each day?
a.1-2 b. 1-300
c. 1000-3000 d. 10000
Earthisthe _ planet from the sun ?
a. Second b. Third
c. Fourth d. Fifth

Which of the following travels the fastest?
a. Cheetahs b. Light

c. Space Shuttle d. Plane

What is the chemical formula for water?

a. CO, b. SO,

c. H,0 d. HCL

What is not found in sharks?

a. Bones b. Teeth

c. Cells d. Fins

What type of sugar does the brain need for

every?
a. Maltose b. Sucrose
c. Glucose d. Galactose

How many wings does a mosquito have?

a. 2 b. 3

c.4 d. 6

At what speed does light travel?
a. 196,000 miles/sec  b. 176,000 miles/sec

c. 166,000 miles/sec  d. 186,000 miles/sec

Out of 7 colours of the rainbow, which one is
the middle

a. Blue b. Yeallow

c. Green d. Orange

Which of the following is the lightest metal?

a. Aluminium b. Lithium

c. Iron d. Lead

11.

12

13.

14.

15.

16.

17.

18.

19.

20.

Which frozen gas forms dry ice?

a. Hydrogen b. Oxygen

c. Mithen d. Carbon di oxide

1st Person in the world to land on Moon?

a. Alen Bean b. Neil Armstrong

c. Pete Carrad d. Alan Shapard

Which famous physicist wrote the book “A Brief
History of time’?

a. Isac Newton b. Stifen Howkins

c. Brayan Cocks d. J.J. Hamson

Largest Bone in Hman Body?
a. Humerus b. Tibia

c. Fibula d. Femu

Highest populated city in the world?

a. Mumbai b. Hongkong

c. Tokyo d. New York

How many chembers does a normal human
heart have?

a.?2 b. 4
c. 8 d. 6

How many bytes are equal to 1Kb?

a. 1000 Bytes b. 1024 Bytes

c. 1042 Bytes d. 1500 Bytes

Which is the smallest country in the world?

a. Vertican City b. Hum

c. Mahe d. Mumbai

Who is the inventor of computer?

a. Thomas Ediso b. James Wett

c. Charles Babbage  d. Galileo Galilei

Hottest planet in our solar system?
a. Jupitor b. Venus

c. Mercurry d. Mars
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21.

22,

23.

24,

25,

26.

27.

28.

29,

30.

31.

Choose the correct alternatives :

according to you will become
the next president of India?

a. Who b. Whom
c. Whoever d. Which
Itis who will take the responsibility.
a. I b. him
c. me d. ours

Fill in the blanks with Collective Nouns.

A of eagles.

a. Clan b. Council

c. Cabinet d. Convocation
A bears.

a. herd b. swarm

c. drove d. sloth

Choose the opposite Gender.

Knight
a. Madame b. Mademoiselle
c. Dame d. Knightess
Fox
a. colt b. ox
c. vixen d. mare

Choose the correct prepositions

Don’t wink your faults
a. at b. off
c. by d. in
His brilliant goal is a testimony his talent.
a. on b. for
c. to d. with

The errant driver was let with a warning,.

a. out as b. of
c. off d. down
He aimed the tiger.
a. over b. at
c. to d. No preposition

required

Choose the correct option to complete the
sentence.

Wow, you've painted such a stunning picture.

32.

33.

34.

35.

36.

37.

38.

39.

40.

I hadn’t realized you were such a
b. white elephant
d. black sheep

a. mad dog
c. dark horse
Identify the adverb in the following sentence.

He is too careless
b. He

d.Is

a. Too
c. Careless

Which one of the following words cannot be
formed from the letters of the given word?

TEACHERS
a. Cheer b. Reach
c. Chair d. Search

Identify the preposition in the following
sentence.

The fat boy has a white cat with him.

a. Boy b. Fat
c. White Cat d. With
Which of the following is an “irregular verb”?
a. Clean b. Open
c. Talk d. Catch

Choose the adverb from the given option.

Come here and take your seat
b. Your

d. And

a. Here

c. There

Identify the type of noun of the underlined
word.

She was full of happiness.

a. Common noun b. Proper noun

c. Abstract noun d. Material noun

Fill in the blank :

There _ two students.
a. Here b. is
c. have d. are

Fill in the blanks with articles :

Whatsortof ___ musicisit?
a. A b. The
c. No article d. An
The king is looking for _____ heir to the throne.
a. A b. The
c. No article d. An
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1.

42,

43.

44,

45.

46.

47.

48.

49,

Complete the series.

SCD, TEF, UGH, , WKL

a. CMN b. UJI . VI] d. JT

Complete the series.
B2CD, _____, BCD4, B5CD, BC6D
a. BC3D b. B2C3D . B2C2D d. BCD7?
What is found necessarily in milk?
b. Curd
d. Whiteness

a. Cream
c. Water

A song always has.

a. Word b. Chorus

¢. Musician d. Tymbal

Arrange the words given below in a meaningful

sequence
1. Family 2. Community
3. Member 4. Locality
5. Country

a. 3,1,2,4,5
c.3,1,4,2,5

b. 3,1,2,5,4
d. 3,1,45,2

Arrange the words given below in a meaningful

sequence.
1. Police 2. Punishment 3. Crime
4. Judge 5. Judgement

a.3,1,2,4,5
c. 54321

b. 1,2,4,3,5
d. 3,1,4,5,2

Introducing Sonia, Aamir says, “She is the wife
of only nephew of only brother of my mother.”
How Sonia is related to Aamir?.

a. Wife b. Sister

c. Sister-in-law d. Dataisinadequate

Pointing to a woman, Abhijit said, “Her
granddaughter is the only daughter of my
brother.” How is the woman related to Abhijit?

a. Sister b. Grandmother

c. Mother-in-law d. Mother

A boy rode his bicycle Northward, then turned

left and rode 1 km and again turned left and

50.

51.

52.

53.

54.

55.

56.

57.

58.

rode 2 km. He found himself 1 km west of his

starting point. How far did he ride northward

initially?
a. 1 km b. 2km
c. 3 km d. 5km

Starting from the point X, Jayant walked 15 m
towards west. He turned left and walked 20 m.
He then turned left and walked 15 m. After this
he turned to his right and walked 12 m. How far
and in which directions is now Jayant from X?

a. 32 m, South b. 47 m, East

c. 42 m, North d. 27 m, South
complete the series : 62,39 ,36, 63,93, ?

a. 26 b. 28

c. 45 d. 54

complete the series : 0,2,8,14,7, 34.
a. 22 b. 24 c. 26 d. 28

complete the series : 11, 13,17,19, 23, ?

a. 25 b. 26 c. 28 d. 29
Find the missing number.
7 5 4 8
8 3 7
11 2 1 ?
a. 6 b. 7 c. 8 d. 9

If MADRAS can be written as JCATXU, how
can ARKONAM be written in that code?
a. XTHOKV] b. ROAKANM

c. XTHQKCJ d. XIHOKC]J
If FASHION is coded as FOIHSAN, how is

PROBLEM be coded ?
a. ROBLEMP

c. PRBOELM

b. PELBORM
d. RPBOELM

If GO =32, SHE = 49, then SOME = ?
a. 56 b. 58 c. 62 d. 64

Choose the alternative whichis closely resembles

the mirror image of the given combination.

qutubgarh
(1) putudgsid
(3) hragbutug

a. 1

(2)dngnpdstLyp
()dvspdutup

b. 2 c.3 d. 4
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59. Choosethealternative whichisclosely resembles
the water-image of the given combination.
ACOUSTIC
(1) voonslic
(3) vconslic

(2) vconelic
(4) vconeTIC

a. 1 b. 2 c.3 d 4

60. Find the minimum number of straight lines

required to make the given figur

a. 9 b. 11

c. 15 d. 16

4. e 7o) T |

SCD, TEF, UGH, ___, WKL
a. CMN b. UJI
. VIJ d. JT

42, (s 7= T |
B2CD, , BCD4, B5CD, BC6D

a. BC3D b. B2C3D
c. B2C2D d. BCD7

43. YK Sy F ANe A 2
a. Cream b. Curd
c. Water d. Whiteness

44. GBI ST HI SCZ—
a. Word b. Chorus
c. Musician d. Tymbal

45. A *ToYfeTcE 9T wfsf FPANCH Aete |
1. Family 2. Community
3. Member 4. Locality
5. Country
a.3,1,2,4,5 b. 3,1,2,5,4
c.3,1,4,2,5 d. 3,1,4,5,2

46. o *wfeTc @I S5yl FPAICH IAEe |
1. Police 2. Punishment 3. Crime
4.Judge  5.]Judgement

a.3,1,2,4,5
c.54321

b. 1,2,4,3,5
d. 3,1,4,5,2
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a. J{ b. (9
c. Sfasfe d. (A2 77
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a. (Qi° b. frmi

c. & d. =
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a.lkm b. 2km c.3km d. 5km

50. X f3 (A0 #g CH, w9 SAReN s 15 foE
2i5ca | fofa 31w e gacete @3k 20 o 250 |
il Sz A e A @3 15 SO 2i50e |
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a. 32 i, wfrel b. 47 %, &
c. 421, Tex d. 2713, #If*ex
51. Bt sl v : 62,39, 36, 63,93, 2
a. 26 b. 28
c. 45 d. 54

52, Frfd(t i =g:0,2,8,14,7?, 34.

a. 22
c. 26

b. 24
d. 28

53. fifae e ¥4 : 11, 13,17, 19, 23, ?

a. 25 b. 26
c. 28 d. 29
54. #PRIA 2fFe T |

7 5 4 8
8 3 7
11 2 1 ?

a. 6 b. 7

c. 8 d. 9
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55. I MADRAS & 1<l I JCATXU, OIZGE (3

@IT ARKONAM eIt @141 2
a. XTHOKYV] b. ROAKANM
c. XTHQKC] d. XIHOKC(C]J

56. IMFASHIONTS (o7 ¥ FOTHSAN, ©IEle (373

(FIT® PROBLEM (JFIT (=141 2(3 [Fela 2
a. ROBLEMP b. PELBORM

c. PRBOELM d. RPBOELM

57. M GO = 32, SHE = 49, ©[2(&1 SOME = ?
a. 56 b. 58

c. 62 d. 64

58. fR<H (ACR o A awe FEREEE mirror image
-7 AT ATDOICI AT |

qutubgarh
(1) putudpsd
(3) hragbutug

a. 1
c.3

59. e AT water-image- 9T ARSI
Aol Ramfs @z e
ACOUSTIC
(1) voons.lic
(3) vyconslic

(2)dngnpdaLyp
(4)dispdutup

b. 2
d 4

(2) vCconzlic
(4) vconeTic

a.l b. 2 c.3 d. 4
60. 2we Halb (of TATT AR Paos FRUF
A G |
a. 9 b. 11
c. 15 d. 16
Which option are correct :
61. 6 3
x3 0
a. 1800 b. 1890 c. 1803 d. 1008
62. 800x5="7
a. 4000 b. 8008
c. 80000 d. 40000
63. 4 +4-4+4=7
a. 4 b. 0 cl d. 14

64.

65.

66.

67.

68.

69.

70.

71.

72,

73.

74.

75.

76.

77.

5x10="7?

a.5 b. 50 c. 05 d. 500
1 year 12 month = How many years = ?

a.2 b. 02 c. 20 d. 12
4 hour = How many minit ?

a. 240 b. 2400 c. 204 d. 400
8  Dbefore and after number

a. 7,9 b. 6,9

c.56 d. 9,8

AN
X e ¢$

a. 6 b. 3 c. 4
2=1ii Then4="7?

a. iiii b. iv

c. iii d. vi
3x4-3+4=7

a. 3 b. 4

c. 13 d. 14
16+4+(5-3)="?

a. 18 b. 4

c. 14 d. 19
B=2Then4="?

a. A b. C c. D d. F
an
NI

a. 6 b. 5 c.9 d 9
One less than 1,00,000 is

a. 9,99,999 b. 1,00,000

c. 1,00,00,1 d. 99,999

The largest 4 digit number is =?
a. 9999  b. 1000 c. 9009 d. 1111

The number for seven lakh seven thousand
seven is

a. 77007 b. 777 c. 707007 d.
The place value of ‘0" in 64085 is
a. 0 b. 1 c. 100

7007

d. 1000
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6 70. 3x4-3+4=2?
78. =2
3 a. 3 b. 4
c. 13 d. 14
71. 16+4+(5-3)=7
a. 18 b. 4
then =7? c. 14 d. 19
72. B=29Re4 ="
a. A b. C
6 4
a.I b. § c. — d — ¢ D - F
4 5 4
79. 86529, 86629, 86729,  ? _ Fill in the blank. 4 )
a. 86289 b. 86829 73.
c. 87829 d. 88929 ) 3
80. The smallest ‘4" digit mumber is ?
a. 1111 b. 1999 c. 9999 d. 1000
a. 6 b. 5 c. 9 d. 9
6. 6 3 74. 1,00,000 (ACF ‘9F ¥ T F© I ?
3 0 a. 9,99,999 b. 1,00,000
a.1800 b. 1890  c. 1803 d. 1008 c. 1,00,00,1 d. 99,999
62. 800x5=2? 75. BIF S0 326w WA 25
a. 4000 b. 8008 a. 9999 b. 1000
c. 80000 d. 40000 c. 9009 d. 1111
63. 4 +4-4+4="7 76. S 7% Ao ST A® 6o WA 25
a. 4 b. 0 c1 d. 14 a. 77007 b. 777
64. 5x10="? c. 707007 d. 7007
a5 b. 50 c. 05 d. 500 77. 64085 T AR ‘0’ T A O = #
65. 1% 12 3% = T 27 ? a. 0 b. 1 c.100  d. 1000
a. 2 b. 02 c. 20 d. 12
66. 45 @ NG = ? 78. =0
a.240 b, 2400 ¢ 204  d. 400 3
67. 8 IITAI @R A AT T3
7, b. 6,9 c.56 d. 98
G =7
)
8 6 4
79. 86529, 86629, 86729, 2 *{e[RI ofF¢l F7 |
c. 4 d. 5 a. 86289 b. 86829  c. 87829 d. 88929
69. 2=iiOREF4=" 80. TF@wod ‘4’ AT AN 25
a. iiii b. iv c. iii d. vi a. 1111 b. 1999 c. 9999 d. 1000




